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POINT DISCONTINUITY In Exercises 44-46, use the following information. @ Y= xez e
The graph of a rational function can have a oo’
hole in it, called a point discontinuity, where N a
the function is undefined. An example is SL“F'% @3, Axc20
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The graph of y = £ — ;ﬁ is the same as the @

graph of y = x — 4 except that there is a hole
at (—4, —8) because the rational function is
not defined when x = —4.

Lk <w%> fies)

(m(x@?fl @W XCAbe3o.
568" 5T ‘ox
T Geiteed VL
44, ),:;?+1t?x+21 45, v-’ - 36 g = &(yﬂx(\/c\

x+3 ~6 2 x+2 @ B (xes) (xs$Y e %( (XJ&)
G ey

e @G&U*B

Feb 8-1:28 PM May 4-11:18 AM

Graph the rational function. Use an open circle for a point discontinuity.
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Find the LCM/LCD - ALL FACTORS OF EACH
TERM MUST BE ACCOUNTED FOR. Perform the Operation
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Find LCD

Leb

)(3( 2 X'5>

@ 5x> and 10x*-15x ¢, oz |
R‘@S\".

Sx(2x-3)

May 4-12:22 PM

Ex

LD

LD

3 X + 5

&) (e 12 A

Ex 4 1 +_X

3 xz{ 2x- q\)

Geiy 1 %
[EDETI

oo 1x-48
£5-4)w D 120x-4)

xS 20

PRy el ¥
1ax ‘SX*’Q

Reeie) * e

x5
120¢9¥03)

3 9 - 12x
A Bx-H)

Y.
Sx(ix‘!))(

e
B u) Zax 9 %

Feb 9-9:24 AM

Per&am %e o‘)era‘\'iof\ B

|

(:VS + R‘hd

Lemn

Xt e ()

May 09, 2018

Lep

5x3 + 10x2- 15x
L (%= nﬂ

Sx(zm) Xz

Perform the Operation
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_ Add with unlike denominators

Add: - 4%
9x*  3x”+3x

Solution

To find the L.CD, factor each denominator and write each factor to the highest
power it occurs. Note that 9x° = 3%’ and 3x° + 3x = 3x(x + 1), so the LCD is
Ffx+ D =970+ 1)
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Factor second denominator.

LED is 9 {x + 1).
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Multiply.
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Add numerators.
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Subtract with unlike denominators

Subtract; X*2 - —2¢—1
2x=2  y'-oax+3

Solution
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Factor denominators.
LCDis 2(x — T)(x — 3).
Multiply.

Subtract numerators.

simplify numerator.

Factor numerator.
Divide out common factor.

simplify.
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